SH6E 11A/KERERRE

RE%H%K5 AFKIS YK ST R T5
B®REIEE [RK K JRK K JRK K [EK K
/KB AR 11868 | 11H6H | 11868 | 11868 | 11868 | 11H68 | 11868 | 11A6H
KB (°C) 19.5 20.5 21.0 21.0 22.0 22.0 23.0 22.5
— AR 170 1 88 0 85 0 1 1
PN [h (=4 [h (=4 (=4 (=4 (=4 (=4
AREYLRUZDEEY (ne ) — — — — — — — —
KEBRUVZDILEY (ng/1) - —= - — — — — —
LU RUZDIEED — — — — — — — —
BRUZDEEY (e D) — — — — — — — —
ERRUZDEEY (e D — — — — — — — —
Affio 0 LIE &Y (g 1) — — — — — — — —
IyERUZDIEEY (me 1) — — — — — — — —
RORRUZDIEEY (g /1) - —= - — — — — —
FEIRRVZDIEEY (g 1) — — — — — — — —-
PO LRUZDEE (g 1) — — — — — — — —
HEUVZDIEEY (g 1) - —= - — — — — —
AR UVZDIEEY (Mg 1) - —= - — — — — —
TR LRUZDIEEY (me /1) — — — — — — — —
XAV RUEDIEEY (ne 1) — — — — —- — — —
HILSH L T FI ™ L% FRE) (mg.1) — — — — — — — —
REEBY (g 1) — — — — — — — —
1Bk (mg 1) — — — -— — — — —
1, &-CA XY (mg 1) — — — — — — — —
VA1, 2—=PHYRAATFLYRUMSVRA—1, 2—JYOATF LY (g /1) —_ - —_ —_— —_ —_— —_ —_—
S/anAzy (mg /D) — — — — — — — —
FrSHO0TFL (mg. 1) — — — — — - — —
FJZORIFLY (g 1) — — — — — — — —
Rt (mg 1) — — — — — — — —
fEAA KAl (mg 1) — — — — — — — —
TIARIY (ng 1) 1R 5.3 1R 35 1R 4.2 -— -—
2-AFJLAVRILEA—)IL (ng. /1) 1R 1.0 1R 1R5% 1.1 1R — —
LA R EmEEE] (mg 1) — — — — — — — —
BIEFREE R — — — — —— — — —
Jz/— )L (mg/1) — — — — — — — —
EEEERRUEHMBEZESR (ng1) — — — — — — — —
Bt AA> (ng. 1) 43 8.0 44 7.4 45 6.6 5.7 5.9
HiW%E (TOCOHE) (mg.1) 1.15 0.43 0.96 0.43 0.67 0.41 0.3%ki# | 03k
pH 6.98 7.05 7.02 7.02 7.08 7.20 6.90 6.92
K — BEEEL — BEEL — BEEHL — BEEHL
B& EELL | EB4GL [ 284 | BE4L | EE4L | E84L | EE8EL | EE4GL
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AE (E) 14 0.2 i 07 0.2 i 09 02K | 02K | 02Kk
ST ALHMBRUEIES T (e /D) — — — — — — — —
BXEE(mg 1) — — — — — — — —
RILLTILTER (mg.~1) — — — — — - — —
H O OEEEE (ng. /1) — — — — — — — —
THOOEEE (mg. 1) — — — ——— — — — —
k%0 A EEES (ms. 1) — — — — — —- — —
50 L (mg 1) — — — — — — — —
JOECHO0A3 (mg./1) — — — - — — — —
oJO0ES00A532 (mg. /1) — — — - — — — —
JOERILL (mg 1) —- — —- — —- — —- —
B /N\OAEY (ne. 1) — — — — — — — —
FUoEZTHERmg./1) — — — ——— — — — —
FILE=9 L (mg 1) — — — — — — — —




